

$$68). 4(\sin^6 x + \cos^6 x) = 4 - 3 \sin^2 2x \quad (\sin 2x)(\sin 2x)$$

$$\text{RHS: } 4 - 3(4 \sin^2 x \cos^2 x) = 4 - 12 \sin^2 x \cos^2 x$$

$$\text{LHS: } 4 \sin^6 x + 4 \cos^6 x = 4 \sin^2 x \sin^2 x \sin^2 x + 4 \cos^2 x \cos^2 x \cos^2 x$$

$$= 4(1 - \cos^2 x)^2 \sin^2 x + 4(1 - \sin^2 x)^2 \cos^2 x = 4(1 - \cos^4 x) \sin^2 x + 4(1 - \sin^4 x) \cos^2 x$$

$$= 4(1 - \cos^6 x) + 4(1 - \sin^6 x)$$

$$65) \frac{2(\tan x - \cot x)}{\tan^2 x - \cot^2 x} = \sin 2x$$

$$a^2 - b^2 = (a+b)(a-b)$$

$$\text{LHS: } \frac{2\left(\frac{\tan x}{1} - \frac{1}{\tan x}\right)}{\frac{\tan^2 x}{1} - \frac{1}{\tan^2 x}} = \frac{2\left(\frac{\tan^2 x - 1}{\tan x}\right)}{\frac{\tan^4 x - 1}{\tan^2 x}} = \frac{2\tan^2 x - 1}{\tan x} \cdot \frac{\tan^2 x}{\tan^4 x - 1}$$

$$= \frac{2(\cancel{\tan^2 x} - 1)}{\cancel{\tan x}} \cdot \frac{\tan^2 x}{(\tan^2 x + 1)(\cancel{\tan^2 x} - 1)} = \frac{2 \tan x}{\sec^2 x} = 2 \frac{\sin x}{\cos x} \cdot \frac{\cos^2 x}{1}$$

$$= 2 \sin x \cos x$$

$$= \sin 2x$$

$$66) \cot 2x = \frac{1 - \tan^2 x}{2 \tan x}$$

$$\text{LHS: } \frac{1}{\tan 2x} = \frac{1}{\frac{2 \tan x}{1 - \tan^2 x}} = \text{RHS.}$$

$$63) \frac{\sin 4x}{\sin x} = 4 \cos x \cos 2x$$

$$\begin{aligned} \text{LHS: } \frac{2 \sin 2x \cos 2x}{\sin x} &= \frac{2 (2 \sin x \cos x) \cos 2x}{\sin x} \\ &= 4 \cos x \cos 2x = \text{RHS} \quad \checkmark \end{aligned}$$

$$61) (\sin x + \cos x)^2 = 1 + \sin 2x$$

$$\left. \begin{array}{l} a^2 - b^2 \\ = (a+b)(a-b) \end{array} \right\}$$

$$\stackrel{13}{=} \sin^2 x + 2\sin x \cos x + \cos^2 x = 1 + 2\sin x \cos x = 1 + \sin 2x = \text{RHS}$$

$$65) \frac{2(\tan x - \cot x)}{\tan^2 x - \cot^2 x} = \sin 2x$$

$$\text{LHS: } \frac{2(\cancel{\tan x} - \cancel{\cot x})}{(\tan x + \cot x)(\cancel{\tan x} - \cancel{\cot x})} = \frac{2}{\tan x + \cot x} = \frac{2}{\frac{\sin x}{\cos x} + \frac{\cos x}{\sin x}}$$

$$= \frac{2}{(\sin^2 x + \cos^2 x) \frac{1}{\sin x \cos x}} = 2 \sin x \cos x = \sin 2x = \text{RHS} \checkmark$$

$$61) (\sin x + \cos x)^2 = 1 + \sin 2x$$

$$\begin{aligned} \underline{\text{LHS}} : \sin^2 x + 2\sin x \cos x + \cos^2 x &= 1 + 2\sin x \cos x \\ &= 1 + \sin 2x = \text{RHS} \checkmark \end{aligned}$$

$$63) \frac{\sin 4x}{\sin x} = 4 \cos x \cos 2x$$

$$\text{LHS: } \frac{2 \sin 2x \cos 2x}{\sin x} = \frac{2(2 \sin x \cos x) \cos 2x}{\sin x}$$

$$= 4 \cos x \cos 2x = \text{RHS} \checkmark$$

$$21) \sin^2 \frac{x}{2} = \frac{1 - \cos x}{2}$$

$$\text{LHS: } \left( \pm \sqrt{\frac{1 - \cos x}{2}} \right)^2$$
$$= \frac{1 - \cos x}{2} = \text{RHS } \checkmark$$

$$23) \cot \frac{\theta}{2} = \frac{\sin \theta}{1 - \cos \theta}$$

$$\text{LHS: } \frac{1}{\tan \frac{\theta}{2}} = \frac{1}{\frac{1 - \cos \theta}{\sin \theta}}$$
$$= \frac{\sin \theta}{1 - \cos \theta} = \text{RHS } \checkmark$$



$$20) \quad 1 + \sin 2t = (\sin t + \cos t)^2$$
$$\stackrel{LHS}{=} 1 + 2 \sin t \cos t$$

$$\text{RHS: } \sin^2 t + 2 \sin t \cos t + \cos^2 t$$
$$= 1 + 2 \sin t \cos t$$

$$2S) \cos 2u = \frac{1 - \tan^2 u}{1 + \tan^2 u}$$

$$\begin{aligned} \text{RHS: } \frac{1 - \tan^2 u}{\sec^2 u} &= \frac{1 - \frac{\sin^2 u}{\cos^2 u}}{\frac{1}{\cos^2 u}} = \frac{\cos^2 u - \sin^2 u}{\cos^2 u} \cdot \frac{\cos^2 u}{1} \\ &= \cos 2u \\ &= \text{RHS} \checkmark \end{aligned}$$

$$26) \frac{\cos 2u}{1 - \sin 2u} = \frac{1 + \tan u}{1 - \tan u}$$

$$\left( \frac{a+b}{a-b} \right)$$

$$\text{RHS: } \frac{1 + \frac{\sin u}{\cos u}}{1 - \frac{\sin u}{\cos u}} = \frac{\cos u + \sin u}{\cos u - \sin u} = \frac{\cos u + \sin u}{\cos u} \cdot \frac{\cos u}{\cos u - \sin u}$$

$$= \frac{\cos u + \sin u}{\cos u - \sin u} \cdot \frac{\cos u - \sin u}{\cos u - \sin u} = \frac{\cos^2 u - \sin^2 u}{(\cos^2 u) - 2\cos u \sin u + \sin^2 u}$$

$$= \frac{\cos 2u}{1 - \sin 2u} = \text{RHS}$$

~~$$\frac{1 + \sin 2u}{\cos 2u}$$~~

$$28) \sec 2x = \frac{\sec^2 x}{2 - \sec^2 x}$$

$$\text{RHS: } \frac{1 + \tan^2 x}{2 - (1 + \tan^2 x)} = \frac{1 + \tan^2 x}{2 - 1 - \tan^2 x} = \frac{1 + \tan^2 x}{1 - \tan^2 x} = \frac{\cos^2 x + \sin^2 x}{\cos^2 x - \sin^2 x}$$

$$\frac{1}{\cos^2 x - \sin^2 x} = \frac{1}{\cos 2x} = \sec 2x = \text{LHS} \checkmark$$

$$22) \cos \frac{2x}{2} = \frac{1 + \cos x}{2}$$

$$\text{LHS} : \left( \frac{+ \sqrt{1 + \cos x}}{- \sqrt{1 + \cos x}} \right)^2 = \frac{1 + \cos x}{2} = \text{RHS} \checkmark$$

---

$$23) \cot \frac{\theta}{2} = \frac{\sin \theta}{1 - \cos \theta}$$

$$\text{LHS} : \frac{1}{\tan \frac{\theta}{2}} = \frac{1}{\frac{1 - \cos \theta}{\sin \theta}} = \frac{\sin \theta}{1 - \cos \theta} = \text{RHS} \checkmark$$

$$25) \cos 2u = \frac{1 - \tan^2 u}{1 + \tan^2 u}$$

$$\begin{aligned} \text{RHS: } \frac{1 - \tan^2 u}{\sec^2 u} &= \frac{1 - \frac{\sin^2 u}{\cos^2 u}}{\frac{1}{\cos^2 u}} = \frac{\frac{\cos^2 u - \sin^2 u}{\cos^2 u}}{\frac{1}{\cos^2 u}} \\ &= \frac{\cos^2 u - \sin^2 u}{\cancel{\cos^2 u}} \cdot \frac{\cancel{\cos^2 u}}{1} = \cos 2u = \text{LHS } \checkmark \end{aligned}$$

$$28) \sec 2x = \frac{\sec^2 x}{2 - \sec^2 x}$$

$$\text{LHS: } \frac{1}{\cos 2x} = \frac{1}{\cos^2 x - \sin^2 x}$$

$$\begin{aligned} \text{RHS: } \frac{\frac{1}{\cos^2 x}}{2 - \frac{1}{\cos^2 x}} &= \frac{\frac{1}{\cos^2 x}}{\frac{2\cos^2 x - 1}{\cos^2 x}} = \frac{1}{\cancel{\cos^2 x}} \cdot \frac{\cancel{\cos^2 x}}{2\cos^2 x - 1} \\ &= \frac{1}{2\cos^2 x - 1} \\ &= \frac{1}{\cos 2x} \\ \text{LHS} &= \sec 2x \end{aligned}$$

$$26) \frac{\cos 2u}{1 - \sin 2u} = \frac{1 + \tan u}{1 - \tan u}$$

$$\frac{a+b}{a-b}$$

$$\text{LHS: } \frac{\cos^2 u - \sin^2 u}{1 - 2\sin u \cos u}$$

$$\text{RHS: } \frac{1 + \tan u}{1 - \tan u} \cdot \frac{1 - \tan u}{1 - \tan u} = \frac{1 - \tan^2 u}{\boxed{-2\sin u \cos u}} = \frac{1 - \tan^2 u}{\frac{\sin^2 u}{\cos^2 u} - 2\sin u \cos u}$$

$$= \frac{\frac{\cos^2 u - \sin^2 u}{\cos^2 u}}{\frac{1 - 2\sin u \cos u}{\cos^2 u}} = \frac{\cos^2 u - \sin^2 u}{\cancel{\cos^2 u}} \cdot \frac{\cos^2 u}{1 - 2\sin u \cos u} = \frac{\cos 2u}{1 - \sin 2u} = \text{LHS}$$



$$26) \frac{\cos 2u}{1 - \sin 2u} = \frac{1 + \tan u}{1 - \tan u}$$

$$\left| \frac{a+b}{a-b} \right.$$

$$\text{RHS: } \frac{1 + \frac{\sin u}{\cos u}}{1 - \frac{\sin u}{\cos u}} = \frac{\frac{\cos u + \sin u}{\cos u}}{\frac{\cos u - \sin u}{\cos u}} = \frac{\cos u + \sin u}{\cos u - \sin u} \cdot \frac{\cos u}{\cos u}$$

$$\rightarrow \frac{\cos u + \sin u}{\cos u - \sin u} \cdot \frac{\cos u - \sin u}{\cos u - \sin u} = \frac{\cos^2 u - \sin^2 u}{\cos^2 u - 2\cos u \sin u + \sin^2 u}$$

$$= \frac{\cos 2u}{1 - \sin 2u} = \frac{\cos 2u}{1 - \sin 2u}$$

- LHS ✓

$$28) \sec 2x = \frac{\sec^2 x}{2 - \sec^2 x}$$

$$\begin{aligned} \text{RHS} &: \frac{\frac{1}{\cos^2 x}}{2 - \frac{1}{\cos^2 x}} = \frac{\frac{1}{\cancel{\cos^2 x}}}{\frac{2\cos^2 x - 1}{\cancel{\cos^2 x}}} = \frac{1}{2\cos^2 x - 1} \\ &= \frac{1}{\cos 2x} \end{aligned}$$

$$\begin{aligned} &= \sec 2x \\ &= \text{LHS} \checkmark \end{aligned}$$